Literacy

Research

Memory

Percentage Increase What does VAT stand for? 50% =0.5=1/2=one half
Amount Decrease What is the current rate of VAT? 25% =0.25 = 1/4 = one quarter
Quantity 75% = 0.75 = 3/4 = three quarters
Value 0 10% =0.1=1/10 = one tenth
0
Skills
Calculate the following without using a calculator:
1. 1% of £96 =
Section A Section B 2. 0.5% of £2500 =
3. 2.5% of £360 =
1. 50% of £640 = 1. 50% of £96 = 4. 17.5% of £180 =
2. 25% of £640 = 2. 25% of £120 =
3. 75% of £640 = 3. 75% of £84 = Increase:
4. 10% of £640 = 4. 10% of £33 = 1. £240by15%=
5. 20% of £640 = 5 20% of £320 = 2. £180by 17.5% =
6. 5% of £640 = 6. 20% of £82 =
7. 15% of £640 = 7. 5% of £180 = Decrease:
8. 35% of £640 = 8. 5% of £48 = 1. £400by1.5%=
9. 40% of £640 = 9 15% of £400 = 2. £2500 by 0.5% =
10. 95% of £640 = 10. 15% of £28 =




